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A person of mass 80 kg jumps from a
height of 1 m and foolishly forgets to
buckle his knees as he lands. His body
decelerates over a distance of only 1 cm.
During deceleration, the total force on
his legs is (g = 10 m/s?)

(A) 800N (B) 880N

(C) 8080N (D) 80800 N

A man weighing 60 kg climbs up a
staircase with 20 kg weight on his head.
The staircase has 20 steps each being
15 cm high. If he takes 10 s to climb,
then the power is (g = 10 m/s?)

(A) 24 W (B) 180 W

(C) 240 W (D) 320W

A spring gun having a spring of spring
constant k is placed at a height h. A ball
of mass m is placed in its barrel and
compressed by a distance x. A box on

PHYSICS

A body of mass m is moving with a
constant velocity along a line parallel to
the x-axis, away from the origin. Its
angular momentum with respect to the
origin

(A) is zero

(B) remains constant

(C) goes on increasing

(D) goes on decreasing

Two small satellites move in circular
orbits around the earth, at distance r and
r + Ar from the centre of the earth. Their
time periods of rotation T and T + AT

(Ar <<r, AT<<T) -
3 A 2 Ar
(A) AT = ET—"' B) AT=3T=

Ar
©) AT=%T% (D) AT=TT

A point P lies on the axis of a ring of
mass M and radius ‘a’, at a distance ‘a’

the ground is placed at a distance
such that the ball lands in the boy?
distance ‘d’ is

from its centre C. A small particle starts
from P and reaches C under
gravitational attraction only. Its speed at
C will be

: 2GM
[ (A) :
. 2GM ( T )
e— d — > a 2
kh 2kh ; 2GM
(A) Tng* B) \/mg * ©) = (2-1)
kh kh (D) zero
C ek D %
© 2mg* ®) 2mg 9.  The magnitudes of the gravitational field

4. A ball of mass 2 kg experiences a force

F = 2x2 + x. In displacing the ball by
2 m, the work done is

at distances r; and r, from the centre of a

uniform sphere of radius R and mass M
are F, and F, respectively. Then

2 5
(A) @x°+29J (B ggl (A) F\/Fy=r/r, ifr,<Randr,<R
© 33 (D) FI (B) F\/Fy=r/,ifr, <Randr, <R
5. A wheel of radius r rolls without (C) F/Fy=r 36, ifr, <Randr, <R
slipping with a speed v on a horizontal j el &
2 road. When it is at a point A on the road, (D) F//F,= ";’Jrr ifr;>Randr,>R

a small blob of mud separates from Y& ring of radius r and.mass per unit

4+ =~10p 3¢

wheel at its highest point and ' W/ \\'&_ gth m rotates with an angular velocity

point B on the road. The distance APge i free space. The tension in the ring is
r 3 A

(A) 4v '\/';: (B) 2v '\/;',' )J (A) mrie (B) %mr‘zm2

T

| (©) V‘\& (D) %\E {o) sma? (D) Zero
| o ™ BIMP6
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1.  s@9F 80 kg &1 v @fdd 1 m & GaE 4

P & 3N ITHW! | o THI I8 30 el
BT TG BRAT YA ST & | SHPT IR bat
1 cm # g8 W T AT & | W F IR,

B MR P aad & (g = 10 m/s?)
(A) 800N (B) 880N
(C) 8080 N (D) 80800 N

2. 60 kg S BT T AEH U7 RIR W 20 kg
2 B AR Afedl 9 a1 & | Al 5ds
15 om &1 & 3R et 20 W vt & 1 3 amaft
=g ¥ 10 o1 &, a9 e & (g = 10 m/s?)
(A) 24 W (B) 180 W
- (C) 240 W (D) 320W

3. @9 fRRIS k @ & FHE 9l SAE
T5® Su8 h W &l T ¥ | g@H Aol H
TaMF m B UE e i g e W B gl x 9

TRfET @1 Sl & | eRelt g tr\'",'

T S B X1 T & o 3G qar A e o] f
firdftgigd 2 {2 ¢

kh
© 2mg ® ) 2mg %

4. wEF 2 kg B B g F = 2% +
39 B & 1S B 2 m fvenfid oach
e e & /

(A) (4x%+2v)] (B) 20J
22
(C) 134-1 (D) 57

5. P r &1 s uftan ta 8w wse W
v 3 R bl edaT € IS WISE WA
A W &, 79 ufed & Ieaaw fag A va gt &1
BICT THST AT 81 9T & AR G896 W fag
BwanfiRaiz Igh AB &

r T
(A) 4\:\[; (B) zv\];
©) v\/é D) 31 [

g
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6. SIF m B U IR qAdT A g x-30 b

TR YT ) U RRR 9 | afasfia &,
A & el ST Hofig HaT

(A) IR

(B) fRRrweaz|

(C) FfgwReE|

(D) HeaTwAIRETE |

7. GRS FEACT+ Ar ARSIV STE

gedt & ART 3R geit we 3 Afefial € | 99
g HA T T + AT & | (Ar<<r, AT<<T)

3%
(A) AT= éTg (B) AT=% —rl

3 Ar
() AT=§'TT (D) AT=T

M T4 3501 ‘'8 $ UH Bod F FwCH
o' TR Bedl B 3 R TP g P ¥ 1 7@ Blet
FUTA 3 TR HIAT S R Fae Toed1g BT
HC W UGTAT e | $HD! AT C W ERT

"/ [2GM
"'\.....___,,, i{(A)/ a

2(:;1\4(1_:/1_5)

2GM 3-1)

©)
(D) =

Tam™ M T4 BoU1 R 91a U UhEHE M &
N\ F ;W r, T8 R ol s @ R
& ' F|@F2§‘Eﬁr

\ '() F|/F,=r,/r), 3, <R 3R r, <R

_\‘_.(') F\/F,=r/Z. afr <R3Rr, <R
AC) F\/Fy=r/, afr <R3Rr, <R

(D) F/Fy=ryr),afr >R3Rr,>R

10. Purr @ ufS 3@ T s@WE m arern U

ool A SMBT H B0 A7 o | Yol FR &
g IBea H g s

(A) mrle? (B) %mrzu)z

(©) %mrzu)z (D) =
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12.

13.

14,
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The wires A and B shown in the figure
are made of the same material and have
radii r, and rp respectively. The block

between them has a mass m. When the

mg

force F is 3’ one of the wires breaks.

Which of the following statements is
wrong ?

F - N —
(A) A will break before B ifr, =rg

(B) A will break before B if r, <2rp
(C) Either A or B may break if r, = 2rg

(D) The lengths of A and B must be known
to predict which wire will break.

A rectangular block of mass m and area of

cross-section A floats in a liquid of density p.

If it is given a small vertical displacement _

from equilibrium, it undergoes oscillatj

with a time period given by

_ [z m
@A) 2m\ [ (B) 2»-\/;
(C) 2m\ /%ﬁ

When a capillary tube is dipped in

liquid, the liquid rises to a height h in the

tube. The tube is now pushed down so

that the height of the tube outside the

liquid is less than h. Then,

(A) the liquid will come out of the tube
like a small fountain.

(B) the liquid will ooze out of the tube
slowly. _

(C) the liquid will fill the tube but not
come out of its upper end.

(D) the free liquid surface inside the tube
will remain hemispherical in shape.

A liquid of density p comes out with a
velocity v from a horizontal tube of area of
cross-section A. The reaction force exerted
by the liquid on the tube is given by

15.

16.

18.

19.

)

20.

21.

(A) Av (B) Avg (C) Avp (D) szp-
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Three stars have "surface temperatures
T, Tg and T.. A appears bluish, B

appears reddish and C

yellowish. One can conclude that
(A) T,>Te>Tg (B) T,>Tg>T,
(C) Tg>Te>T, (D) Te>Tg>T,

appears

A thermometer has wrong calibration
(it has marks at equal distances and the
capillary is of uniform diameter). It
reads the melting point of ice as — 10°. It
reads 60° in place of 50 °C. On this
scale, the temperature of boiling point of
water will be

(A) 110° (B) 120° (C) 130° (D) 140°
0.75 g of petroleum was burnt in a bomb
calorimeter which contained 2 kg of
water and had a water equivalent = 750 g.
The rise in temperature was 3.0 °C. The
calorific value of petroleum is

(A) 7500 cal/g (B) 11000 cal/g
(C) 12000 cal/lg (D) 15000 cal/g

The average degree of freedom per
molecule for a gas is 6. The gas
performs 25 J of work when it expands
at constant pressure. The heat absorbed
the gas is
751 (B) 1001J

(D) 1501J

| ; giols,
)“A gas undergoes a process in which its
% p;,éssure P and volume V are related as

%z PP = constant. The bulk modulus for
e the gas in this process is

(A) nP (B) P'" (©O) % (D) Pn

Two cylinders A and B fitted with pistons,

contain equal amounts of an ideal diatomic

gas at 300 K. The piston of A is free to

mave, while that of B is held fixed. The

same amount of heat is given to the gas in

each cylinder. If the rise in temperature of
the gas in A is 30 K, then the rise in

temperature of the gas in B is

(A) 30K (B) 18K(C) 42K (D) 50K

The solar constant for the earth is 1. The
surface temperature of the sun is T K. If the
sun subtends an angle 0 at the earth, then

(A) n <@ (B) 1«6’
(C) ne6? (D) ne<d
B1IMP6
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Forr 7 T QYA A T B 1w @
a#%sﬁvmzﬁwmqa‘r[;wﬁﬁ}aﬁfai
419 6 BT g2 m € | 9d 9 F &1 91

msg%, q9 U IR ge Al e | FrefaRead sue
HA P AT TR TE &2

A

F
(A) afer, =r; @A, B | Y& & WM |
(B) afar, <2rp TA, B 78 gE |
(C) aRry =2, FWANATB ETHHATR |

(D) A Ud B @} oS ST M90S & afS I8
FaFTs P ATarR gem |

TEAM m U4 faeE &a%d A el U@

HTIATHR A 1h Ucd p qTel Uh 59 3§ QR TBT& |

e 5 P 3cY SR fawenyT armawRn ¥

o <mar &, 79 f6d I <@ Siadl &1 naddid

R
Apg m_
(A) 2’(\/? (B) ZIV\/A_‘Jg
o [Ame A\
(E) 2 0 (D) 2 Amg

9 TP B DI P 54 3§ gaId1 Il §, 79
el § $HaE h 9P &9 9g 1 & | Teh DY 37
i a1 gbon o & 6 59 & aeR el @)
SIS hAFHEIWY |T9
(A) =Telt & & %9 0P DI BeaR Pl AXE @
Ao
(B) ot # 9 wa efR-efR amex e |
(C) %a7chl IR M R T9D S R
qreR TEl faer |
(D) Teit & 3<% Had 59 YIS MHR H 37
- BITR |
e UR=0T & %d A drell U &fas et &
I p FIH A ANV A IR P @8 159
ERT el R o T wfafhar aer &
(A) Av (B) Avg(C) Avp (D) Av?p
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15. dFORI$ gSRammE T,, T, W T-81A
Afien wefla g1 &, B o wfta g1 & iR C
e yiliter Bl | 5o g Frepd Frperan &
AT, > Tordp (B T,>T5 1,
El>T.>T, D) T>T>T,

oy, U gAHieR 3 e sienie & (39 fren wam

%{ O & 3R Sl BT AN THEHH B ) '
A BT TelAid — 10° dgan & 178 50 °C &
R W 60° U1 & | 39 Wd W, I BT
~ TR TTIHT BT

(
o\ /&
sdoog P 10°®) 120°(C) 130° (D) 140°
di i % 0.75 ¢ @ U a9 parmd §

Srerran T fore 2 kg urht o 3R R oa
qodie 750 g A1 | q9EE # gi& 3.0 °C ot |
Ugiforad BT HARAE &

(A) 7500callg  (B) 11000 cal/g
(C) 12000 cal/lg (D) 15000 cal/g

18. % I & ford ufdy o] sfa wd=an 31 Hife
6 & 1999 25 ] &1 &R el & via R g@ w®
& yqRd Bl & | T gRT et S g
(A) 751 (B) 100J
(C) 1251 (D) 1501J

19. & i U% ufkan @ Tored & e sas1T|
P Td 3a V gdiaRo VP! = fRRi® gR1
wag & |39 ufea § W F R e
TR VI &

(A) nP  (B) P (C) % (D) p*

0, freawigda1d@d A @B # 300K RU&

gl oAy e @ e A el

Py fvet 7fdy & ford waci= & wafs B #1RR

Y18 | 9% 9o H I B1 &1 B (had

g oIt & 1 afe A #, T P qomE | g
®,dd B #, e amEE A gig &

?ﬁﬁﬁﬂ‘ivﬁuaiasn ¥ gl oy
amaE T K & 1 3f gedt iR g3 0 $ivr g &,

GE
(A) m o0 (B) m o< 6}
(C) neo? (D) N6
7 o
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Five rods of the same dimensions are
arranged as shown. They have thermal
conductivities kl' k2~ k3, k, and ks.

When points A and B are maintained at
different temperatures no heat flows
through the central rod. It follows that

2 i

(A)

(B)

(©)
(D)

A Carnot engine is operated as an air
conditioner to cool a house in the summer.
The air conditioner removes 27.9 kJ of
heat per second from the house, and
maintains the inside temperature at 293 K,
while the outside temperature is 314 K.
The power required for the air conditioner
under these operating conditions, in SI
units, is closest to

(A) 2790 (B) 2000

(C) 2930 (D) 3140

A gas expands by 1.2 litre at a constant
pressure of 2.5 bar. During the expansion
500 J of heat is added. The change in the
internal energy of the gas is

(A) 2001J (B) 3001J

(€C) 70017 (D) 8001

16 g of oxygen and 14 g of nitrogen are
mixed in an enclosure of volume 10
litres and temperature 27 °C. The
pressure exerted by the mixture is
(A) 0.49 x 10° N/m?

(B) 0.98 x 105 N/m?2

(C) 1.98 x 105 N/m?

(D) 2.49 x 105 N/m?

In Ingenhausz experiment, the wax
upto 4 cm and 8 c¢cm on bars A and
respectively. The ratio of
conductivities of A and B is

1 1
W4 B2 ©35 O3y

https://previouspaper.in

27. If the root mean square speed of the
molecules of hydrogen at S.T.P. is 1.84
km/s, then the root mean square speed of
the molecules of oxygen at S.T.P. will be
(A) 0.46 km/s (B) 0.92 km/s

(C) 3.68 km/s (D) 7.36 km/s
The linear density of a vibrating string is
1.3 x 107* kg/m. A transverse wave is
propagating on the string and is
described by y = 0.02 sin (x + 30 1)
where x and y are in metres and t in
seconds. The tension in the string is

(A) IN (B) 1.17N

(C) 13N (D) 39N

29. A string of length 0.4 m and mass 1072 .
kg is clamped at its ends. The tension in
the string is 1.6 N. When a pulse travels
along the string, the shape of the string is
found to be the same at times t and
t + At. The value of At is
(A) 0.05s (B) O.1s
(C)n02s (D) 045
30. - A stone is dropped into a well and its
splash is heard at the mouth of the well
after an interval of 1.45 s. The velocity
of sound in air is 332 m/s. The depth of
- the well is nearly
(A) S5m (B) 7m
(C) 10m (D) I5m
31. An open pipe is suddenly closed at one end,
as a result of which the frequency of the
third harmonic of the closed pipe is found to
be higher by 100 Hz than the fundamental
frequency of the open pipe. The fundamental

frequency of the open pipe is
(A) 200 Hz (B) 240 Hz
(C) 300 Hz (D) 480 Hz

When we hear a sound, we can identify
its source from

w (A) the frequency of the sound

N(B) the amplitude of the sound

(') the wavelength of the sound

V¢(I}) the overtones present in the sound

33. ) “Alset of 56 tuning forks are arranged in
) “series of increasing frequencies. Each
7 tuning fork gives 4 beats/s with
Apreceding one. If the frequency of the

2 last fork is 3 times that of the first, then

frequency of the first fork is
(A) 100 Hz (B) 110 Hz
(C) 120 Hz (D) 90 Hz

BIMP6
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22. UGEHM AHR $i UG Bl B I3 & <
Al R a1 T & | S SO ATAbaTg K
ky, ks, ky W kg & 1@ fagalt A W@ B @
=1 A IR = o B, 99 $y B 9
PIg ST ya1fRd € Bl & | 39 o Fdaan
g

=k, aﬁ'\rk

k k
(B) k—‘=k—2
(©) kk,=ksk,

(D) kk,=kk,

23. %A ¥ U R B S81 A & ol v Bl
2?57 &) U TIR BUSIIFR & & # yaferd faan
AT & | TR BUSITER BR 9 27.9 kI oo ufa
JFHUS B[ & 3R arex &1 a9aH 293 K )
SRR Fvar & wafs ae” & aeEE 314 K

W | 39 FhTeH a¥T § UAR HUSIR & ford
3qeaS fed, SI 551S #, 39 Adcai &
(A) 2790 (B) 2000
(C) 2930 (D) 3140

24. U 2.5 bar & T T W 1.2 e wRa
It ¥ | TR & SR 500.J HE ST A & | T

(A) k

P AIR® Sl # uRad &
(A) 2007 (B) 3007
(C) 70017 (D) 8007

25. s 27.°C Ud 3aa 10 e & th I H
16 g siffiom Td 14 g Tggior o Mfda
fraroman® | A gRT AT AT SE
(A) 0.49 x 10° N/m?

(B) 0.98 x 10° N/m?
(C) 1.98 x 10° N/m?
(D) 2.49 x 10° N/m?

26. SoERY YANTH, Bel A vd B W fger

ARFAT:4cm UG S cm AREaH S | A TG

B &) &S ATeidmarel d1 U &
1 1
A4 B2 ©3 DOy
B1IMP6
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29.

30.

31.

32.

K A <1 T4 AT TR ETgg o & el
é&' it a1t 1.84 km/s 2, 9@ AM®

9/Td A TR SIS & i BT -
el e 81
(A) 0.46 km/s (B) 0.92 km/s
(C) 3.68 km/s (D) 7.36 km/s

U6 B9 B Y&l SK &1 @ad v
1.3 x 1074 kg/m ¥ | 0% 3FRY RIS W
HORY Y Vel & 3R T A B ok @
y=0.02sin (x + 30 t) FEIx Wd y MR A &
AR t ApveH IS A TAEE

(A) 1N (B) 1.17N

(C) 13N (D) 39N

gamH 1072 kg Ud @ aT$ 0.4 m 3 0P SR
I RRI TR IS ATIE 1.6 N B 159
TP W SN IR TR AT &, 99 SR &1 3MHR
ma‘rtqawquwmwm%lm

FIHAE
(A) 0.05s (B) 0.1s
(C),0.2s (D) 04s

TP GeoR UF U H IR 9w € iR gud

BUTH B e Y & g W 1.45 s & =R

& qeg g gsdt ¥ | a1g ¥ @ &t A

332 m/s ¥ | GT B TER0S AHITE

(A) 5m (B) 7m

(C) 10m (D) 15m

TH Gol UgY & Uh RR &1 esrams o o R
a1 & ford HoRawsy 48 Uiy & AR el
# smafy gor UIey HY qoA Mgy | 100 Hz
3y U1 IRl B | gl U3y B e g R 2

(A) 200 Hz (B) 240 Hz

(C) 300 Hz (D) 480 Hz

99 &9 UF @ ) G 8, 99 36D A DI
o fafrea fpar s asan e

i (A) wfy Bt angfird

Hq P 3 AT B, 99 99 @R B
(A) 100 Hz (B) 110 Hz
(C) 120 Hz (D) 90 Hz
o



34,

35.

36.

3.

38.

https://previouspaper.in

A person standing between two parallel

hills fires a gun. He hears the first echo s

speed of sound is 332 m/s, then h
hear the third echo after
(A) 32s
(C) 4.0s

An engine whistling at a co l\\__‘_

frequency moves with a constant spe¥d./
It goes past a stationary observer
standing beside the railways track. The
frequency (n) of the sound heard by the
observer is plotted against time (t).
Which of the following best represents
the resulting curve ?

Ay AAN - iy B A
t t
o e S R R 1

t t

In a resonance column experiment, a
long tube open at the top is clamped
vertically. The first and the second
resonances occur when the water level is
24.1 cm and 74.1 cm respectively below
the open end. The diameter of the tube is
(A) 2cm (B) 3cm

(C) 4cm (D) Scm

Springs of spring constants K, 2K, 4K,
8K, ...., 2048 Kal..\ are connected in
series. A mass M kg is attached to the
lower end of the last spring and
system is allowed to vibrate. The \g?
period of oscillation is

M
(A) 21l:‘\/7 3K
IZM
©) 2n oK

A particle executes simple harmonic
motion of period 1.2 s and amplitude
8 cm. Find the time it takes to travel
3 cm from the positive extremity of its

oscillation. Given cos™! (0.625) = 51°
(A) 0.1s (B) 0.17s
(C) 034s (D) 0.51s
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39.

/R
)

40.

41.

42.

10

%
A
~ ¢/ metal sphere of diameter 1.2 x 1073 m

";,,/

A body executes simple harmonic
motion under the action of a force F,

}Eﬂ : 3
< !:‘z rmonic motion with time period T 5 S If

the forces F, and F, act

simultancously in the same direction on
the body, its time period will be

2 7 12 24
(A) 58 (B) 35S ©) 258 (D) 25 S

Two identical - charged spheres are
suspended by strings of equal length.
The strings make an angle of 30 ° with
each other. The density of the material of
the sphere is 1600 kg/m3. When the
system is suspended in a liquid of
density 800 kg/m>, the angle remains the
same. Then, the dielectric constant of the
liquid is

(A) 1.6 (B) 20 (C) 24 (D) 3.0
A half ring of radius R has a charge of A
per unit length. The potential at the
centre of the half ring is

) & B) K
A 1
(&)} k_f{_ (D) kmA (k " e 0)

A charge Q is distributed over two
concentric hollow spheres of radii r and R
(R > r) such that the surface densities are
equal. The potential at the common centre is

A o .2
(4) 4ne R+r B) 4ne R-r
1 QMR- 1 OQOR+r)

) 4ne (R2+r2) (D) dne, (R%+1?)

‘A radjoactwe source in the form of a

emits beta particles at a constant rate of
6.25 x 1010 particles per second. If the
source is electrically insulated, how long
will it take for its potential to rise by 1.0
volt, assuming that 80% of emitted beta
particles escape from the surface ?
(A) 8.33 us (B) 6.67 us
(C) 45us (D) 333 pus
B1MP6



https://previouspaper.in

34, 2 e e % dra et v A v SRR G
Wm’éﬂw&ﬁmnﬁj&lﬁl.s.s : ';‘ i 5
T SR IR 2.5 5 & Uean G vee & R, Skl 1fQ % T & 12 7 o o F,
e @y 3 = 332 m/s §, a9 98 S @fxw a %WEMW i
wfeeafy g9 wwa & gean g g -
(A) 325 (B) 365 W%IﬁaﬁwmaﬂmlmFﬂWﬁ
(C) 4.0s (D) 4.55 feen ¥ v R RivG &, 79 3mad srerErm
35. R amgfy & Wi aormar gan sfom ve fRR 2 7 12 24
e A TRvefer & | T8 X TR F A @ (A) 55 B) 5s (O) 355 (D) 355
% fRR 61 & I | TORAT & | JEd R
G 71 &y 21 gy (n) B (1) F W 4 o 3"'“'5';@ - "’maﬁ
Rifya R s & | Prefeed & @ @ SR | TP T & 1SR 7 g F 30
QR Tz B w5 A et 0 BT BT N & | M F gerRt & g9@
1600 kg/m? & | wa Fem & 9w
@ | /\ ®) " AL 800 kg/m® & % # eHwET WK ¥, 99 BT
e TENEATE | T4, 59 BT RIS &
t t (Ay 16.(B) 20 (C) 24 (D) 3.0
© 0 /‘\ (@) 0 _ 41. - 35U R 9 U5 31 Bool &1 AR U ZHTE
36. TS SIS W AT H, o ) gelt u ot (A) .k%' (B) k=
el B SR Foirg far war & | vew vd 5 |
et o 9T TR & o @@ R 3 © & ) m[k=4 )
5 e
9t &1 WR 99 24.1 cm U4 74.1 em & | 0
TR IS 42. e r @R R > 1) ¥ 2 Wy @
(A) 2cm (B) 3em Tell IR U A9 Q 39 YR faRa fsarsan &
(C) 4cm (D) 5cm TSR T UHHT & | 99T $s iR fawg
37. ourit g K, 2K, 4K, 8K, ..., :
2048 K, ..... 9rcll BHir Ao B9 & Wi Q 0
St € 1 3if~am HarE) & Fraa AR 9 gaawm R+r ® 4ne, R-r
T ST & | €er 1 amad BraT R : (C) 4ﬂ€0(Rz+rz)( ) Ine,  RE+D)
M M A
—_— B a——
&) Zn\[z_K ) 21[\/; “\.43 lexlO“mﬂrﬁqu%‘ﬁéaﬁm
(C) 2mA fg-%{— (D) 4-“-\/% ﬁmmmﬁ 6:25% IO“’EIWTFI‘I?I
JYHve B RR ¥ A et Fu1 Isafsa o= &1
38. TP HUI UM 8§ cm Ud A BIeA 1.2 s A ¥ 1 af B e o &, 7@ a% Rwa 3 1.0
Y ST T Y T & | 5 S B T diee 1 g €W 3 ReeT TN, TR A
o RRYE 3 om 0 59 Y # R e 3 P SeifSra dieT o 1 80% 3 & e
o 2 fear® cos™! (0.625)=51° scan i
(A) 0.1s (B) 0.17s (A) 833 pis (B) 667 pis
(C) 0.34s (D) 0.51s (©) 45 s (D) 333 s
BIMP6 11 o
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An infinite number of identical
capacitors each of capacitance ¢ = 1 uF
are connected as shown in figure. The
equivalence capacitance between A and
B will be

{1
e
HHHHHHHHH

cccccccc

-] o

A B
(A) 1pF (B) 2pF
1 1
(C) FuF (D) ZWF
The permittivity of diamond is

1.46 x- 10710 C2/N.m2. The electric
susceptibility of diamond is
(€,=8.85%107'2 C3/N.m?)

(A) 16.5

(B) 15.5

(C) 1.37x107'0 CZ/N.m?

(D) 1.25x 1071 C2/N.m?

A simple pendulum of length / has a bob
of mass m, with a charge q on it. A
vertical sheet of charge, with charge ¢
per unit area, passes through the point of
suspension of the pendulum. At
equilibrium the string makes an angle 0
with the vertical, given by

(A) tan”! (f‘ng) (B) tan!

(C) tan™! [ACLJ (D) tan‘l[

€ ,mg

A conducting sphere of radius
carrying charge Q, lies inside 2
uncharged conducting shell of radius 2R.
If they are joined by a metal wire, then
amount of heat produced is

e 1507
(A) 4ne R (B) 4ne R

OF L
© 4ne 02R (D) 41:504R

https://previouspaper.in
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48. A and B are two points on a uniform
ring of resistance R. The ZACB = 6,
where C is the centre of the ring. The
equivalent resistance between A and B is

(A) —;2—(2:: 8)6 (B) R[r—-—)

0 2n-0
© Ry D) R

. # N identical cells, each of e.m.f. E and
" internal resistance r are joined in series.
Out of these, n cells are wrongly
connected i.e. their terminals are
connected in reverse of that required for

: : N .
series connection. For n < 3’ the

resulting system will have internal
resistance
(A) (N=n)r (B) (N-2n)r
-n
O o

50. A current of 5 A is passing through a
metallic wire of cross-section area

4 x 107 m2. If the density of the charge

carriers in the wire is 5 x 1026/m>, then
the drift speed of the electrons is

A) 1ms (B) Tems
1 1
(©) 33ms (D) 5z mis

51. A milliammeter of range 10 mA has a
coil of resistance 1 €. To use it as an
ammeter of range 1 A, the required shunt
must have a resistance of

101 (B) Too L
(C) @Q (D) 0.99 Q

52 ‘ Two electric bulbs rated at 25 W, 220 V
/ and 100 W, 220 V are connected in

Y " series across a 220 V voltage source.

The 25 W and 100 W bulbs now draw P,
and P, powers respectively, then

(A) P,=9W,P,=16W

(B) P,=16 W,P,=9W

(C) P,=16W,P,=4W

(D) P,=4W,P,=16W

BIMP6



